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	If you have a problem with the written format used in this exam, ask for help.  You can take an oral exam if you prefer.

Use the supplied answer sheet for your responses.
This question paper is to be returned at the end of the assessment
There are 15 questions in this assessment. Attempt as many questions as possible. 
Marks Available = 15, Pass mark = 80% (12 marks.) Time Allowed = 30 minutes.
There are two types of question. The following examples show how to select an answer:


Multiple Choice Question 

You are given five answers labelled A B C D E. Only one is correct. If you think that none, or more than one seems correct, always choose the one that corresponds best to your BSAC diver training. Select the letter corresponding to your choice and circle it on the answer grid. 

Example 

Which of the following items of diving equipment has a mouthpiece? 

A: air cylinder 

B: diving torch 

C: snorkel 

D: fins 


E: drysuit 


Answer = C 



Multiple Option Question 

You are given a list of four alternatives labelled 1 2 3 4. One or more of them may be correct. You are also given a list of five answers labelled A B C D E which describe various combinations of the alternatives. These are the same for every multiple option question. Select the letter corresponding to the correct combination of alternatives and circle it on the answer sheet. There is only one correct answer. If you think that none, or more than one seems correct, always choose the one that corresponds best to your BSAC diver training. 

Example 

Which of the following items of diving equipment have a mouthpiece? 

1:snorkel 


2:AS 


3:diving torch 

4:demand valve 

A: 1 only B: 1+2 only C: 1+2+4 only

D: 3+4 only E: all four

Answer = C because 1+2+4 are correct
You will need 

Pencil, Eraser & Calculator
BSAC Nitrox Tables
Calculations

Use the BSAC Nitrox Tables for calculations, unless the question instructs otherwise.
1.
Which of the following are potential advantages of breathing Nitrox instead of compressed air?
1: lower risk of DCI 

2: longer no-stop times 

3: lower risk of oxygen toxicity 

4: lower equipment and servicing costs

A: 1 only B: 1+2 only C: 1+2+4 only 

D: 3+4 only E: all four
2.
What is the recommended maximum operating depth in metres of Nitrox 36 for no-stop dives? 

A: 29m 

B: 30m 

C: 33 m
D: 34 m
E: 35 m
3.
What is the richest Nitrox mix that a Sports Diver (without supplementary qualifications) is trained to use?

A: 50%

B: 40%

C: 36%

D: 32%

E: 21%

4.
Which of the following pre-dive checks is not required when breathing air?

A: measure the cylinder pressure

B: test the demand valve 

C: analyse the oxygen percentage 

D: check that the cylinder is in test 

E: perform a buddy check 

5.
What is the partial pressure of oxygen in Nitrox 37 at 21m?

A: 1.26 

B: 1.37
C: 1.18
D: 1.12
E: 1.15



6.
What is your surfacing code on Table A of the BSAC Nitrox Tables after a dive time of 38min at 15m breathing Nitrox 32? 

A: B 

B: C 

C: D 

D: E 

E: F
7.
If you breathe Nitrox 32 for a dive time of 29min at 30m what is your surfacing code on Table A? 

A: C 

B: D 

C: E
D: F 

E: G
8. 
After surfacing from a first dive which required decompression stops, you and your buddy, both using BSAC Nitrox Tables, plan to dive to 18m for 30 minutes using Nitrox 32, following a surface interval 4.5 hours. What decompression stops are required for the second dive? 
A: no stops needed 

B: 1 min at 6m

C: 3 min at 6m 

D: 1 min at 9m and 9 min at 6m 

E: 6 min at 6m 

9.
A diver carries out a dive to 27m using Nitrox 36 with a dive time of 25 minutes. What is the CNS% uptake at the end of the dive?

A: 11.2%

B: 15.25%

C: 19.6%

D: 29.6%

E: 37.0%

10.
Using BSAC Nitrox tables calculate the stops required for a first dive to 34m for 26 minutes using Nitrox 32. 

A: no stops required 

B: 1 minute at 9m 

C: 1 minute at 6m 

D: 3 minutes at 6m 

E: 1 minute at 9m and 6 minutes at 6m 

11.
On testing your mix you find it to be Nitrox 35.7 Calculate the MOD, using the formula you have been taught (do not use the tables).
A: 27m
B: 29m

C: 31m

D: 35m
E: 39m

12.
3 hours after a dive which resulted in a CNS uptake of 20%, a diver carries out a no-stop dive to 27m using Nitrox 35 with a dive time of 30 minutes. What is the CNS% uptake at the end of the second dive?

A: 16.8%

B: 26.8%

C: 36.8%

D: 44.4%

E: 54.4%
13.
Whole body oxygen toxicity is due to:

A: long exposures to pN2 over 0.5 bar

B: long exposures to pO2 over 0.5 bar

C: elevated pN2
D: elevated pO2
E: salt water aspiration

14.
Which of the following is correct rescue procedure for a casualty having convulsions underwater, believed to be due to CNS oxygen toxicity?

A: immediate CBL to surface

B: CBL to surface once casualty relaxes
C: do not administer oxygen 
D: do not omit required deco stops
E: maintain neck extension during ascent

15. Two Nitrox divers are buddied together, but they are using different mixes. Which of the following constraints must they apply when planning their dive?

A: shortest decompression stops and deepest MOD 

B: longest decompression stops and deepest MOD
C: shortest decompression stops and shallowest MOD
D: longest decompression stops and shallowest MOD

E: Nitrox divers are not allowed to dive together unless using the same mix
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